Al & o & AFHE &AM A
20238 20ilat LBt 23 ARt
SN OB AR}
I Ngels 248 XA
Rl 222Ee Wast (Gt M)
SA - BH - SRI(B) - MRAR - BAS 0f v e HIDEY
SIS AFR It 1,106,437 988,521 117,916
= 5,000
Al 1,101,437
Agelsl 248 X 1,054,597 967,961 86,636
= 5,000
Al 1,049,597
22282 Wast 1,054,597 967,961 86,636
= 5,000
Al 1,049,597
ggs A 537,510 496,857 40,653
205 2|3 537,510 496,857 40,653
01 283a=tl 92,400 85,800 6,600
O gtz A7
900,000 x7H*12& 75,600
O=2xgsH| 200,000 «7H*12& 16,800
2 23+ 177,150 164,497 12,653
O2d=8g 2,108,203 x7H~12& 177,150
03 2| =LHOYI 19,110 19,110 0
O2degs 91,0002 x7&*30& 19,110
04 2l@=2/(4H| 31,850 31,850 0
O 3,500,000 +7H 24,500
OXHZHEA & BR
24,500, 0002 *30% 7,350
06 Y= SSEH 49,000 49,000 0
O d=g35a3H| 49,000,000& 49,000
06 Slel=d Y=l 44,040 44,040 0
oo 2,480,000& 123 29,760
O=Rd 1,190,0002 122 14,280
07 QR ASNLH(SS?E, A=) 50,000 32,000 18,000
O3ss9& € MHHU= 50,000,000& 50,000
08 QIR HSNLHI(2I2tRIE) 12,400 9,000 3,400
OS5 W =H| 12,400,000 12,400
09 Sl E IR 2| 35,000 35,000 0
O22 e 5,000,000& ~7H 35,000
10 A EAMRE=S 10,600 10,600 0
O2dHgAMEE= 10,600
~SRAZ AR 2 ZE 2 2/l
10,600,000 10,600
oY== 2E=s 7,560 7,560 0
O2E=RA=TRE=
90,0008 +7&x 12 7,560
12 A=A RYS 8,400 8,400 0




2N

M qgols 29 N
el 22Eel HAlst EEREED
SA - B . B(30) - HSAIY - BAS Ofl &kt e HImE2
SEEETIEE=EE)
100,000 x7F+12& 8,400
NS 244.,89% 227,912 16,983
101 el t| 21,513 8,368 13,145
M IIRIMZ2Z2XSEs 21,513 8,368 13,145
O=IAHHEIS 19, LAl 1Y) 8,582
A== 2,010,580 x2H+x2& 8,043
T EOE 94,0502 %22 02 377
-AXResI=E 80,560 x2H 1 162
OF A2 (1Y) 12,931
D23 (4AIRHY, 52/3F)
1,010, 100&x1F+ 128 12,122
= 47, 250315123 567
-AXResII=E 40,2802 x 1B +6 242
201 et AL| 170,004 163,364 6,640
01 Ar2teltl 117,040 113,400 3,640
OB0=% 1,7002*3,0000H 5,100
WIS AEAOIA 30,0002 *3000H4 9,000
Ofgns o d22ASnI(HY)
11,000,000 11,000
OZ2IFANE MARIR 3 &aE
100,000 *5H 500
OZIIE Al - 223 M=ls S XA
7,000,000& 7,000
Oosl+=d Mz 8,000& 5005 4,000
O3z9E HH 600,000 & %93 5,400
Oslel A+ M= 1,500,000& 1,500
OXIgX =2 6,000,000& 6,000
SLR =2 3,000,000& 3,000
Q&N =2 1,240,000& 1,240
oog+y 200,000 & *43| 800
ON=E2SHE 300,000 +3CH 900
O&IINIEHI 200,000 »23| 400
O3J1¥EI|, Z=0| 40 dE=z
580,000& =123 6,960
023 228 N 6,000,000& 6,000
OgY & 8HE IR 2924
220,000&x3H x 12 7,920
O2EHIZLIHE #D|ge A
50,000 *39H »23] 3,900
OFAL Y AMES 250,000 123 3,000
O2& A 20,0003 2004 400
OAldEmXI& AEZ
250,000 12& 3,000




2N

M qgols 29 N
el 22Eel HAlst EEREED
SA - B . B(30) - HSAIY - BAS Ofl &kt e HImE2
OBTARLA ZARIRE AREER 48
100,000 x2F x20 4,000
OtH=(od, M) 40,000 »30 1,200
Oolsl 2= 300, 0002 * 1204 3,600
O==0HELDA =< 150,000 *203] 3,000
OLrsEs¥E S 5,000,000& 5,000
Ozt HHE RN 1,800,000& 1,800
O=g)l gtz 660,000& =12 7,920
OQIARIZE BA £g
100,0002 x5 H *33] 1,500
OXLAINHSRE e 8
200,0002 x5 x23] 2,000
02 32| 40,964 37,964 3,000
O32=22 2 HMAl 17,760
SHESUHE MEZ
90,000 x2CH* 123 2,160
I3 1,000,000 123 12,000
4223 10,0002+ 122 1,200
-ZOHRIE B2 RRIES
150,000 12& 1,800
-RUEES 0l8= 50,0003+ 12& 600
OA&&EHIR Xl 8,000,000& 8,000
OXtsEs A2l 13,400,000& 13,400
Ogsa gyl 3 104,500 =12 1,254
otz 28a 550,000& 550
03 A2 12,000 12,000 0
O2EHILIHE d&dst WS
3,000,000 43 12,000
202 (44| 34,000 24,500 9,500
01 =WHO4 bl 6,000 1,000 5,000
OQEFEX [tz =8 F&
3,000,000& 3,000
O2AH =3 3,000,000& 3,000
03 =P 20| 28,000 23,500 4,500
O3 +=#I2A0NH| 20,000,000& 20,000
O & +=3#22A0 Y| 8,000,000& 8,000
203 2R F&IY| 9,000 8,000 1,000
03 AIB =&AL 9,000 8,000 1,000
OAMF=AALFXIH|(DHE)
6,000,000& 6,000
ONHZXARZTH| (ST 2AAA)
3,000,000& 3,000
301 LBetENZ 3,978 4,080 A102
11 HARHIXIES 3,978 4,080 A102




S OIS AR D
Zu: qgols] 2% K
o

&2 232H2| WaSH (SH9: H )
SA - B B(3T) - HSAR - BAS e 2t
SEEENEREEE
13,00021+39% *43| 2,028
OABBUEES A9
50,000& x39H * 13| 1,950
303 &2 2,000 1,000 1,000
01 ZAZ 2,000 1,000 1,000
OHHFAIR2ZAL 2N EA
2,000,000& 2,000
305 A2 S 400 400
01 =S 400 400
OO0l S Ad|HA 40,0002 x10¥ 400
405 KHAFSHI 4,000 18,200 A 14,200
01 MY Z2EF S 4,000 18,200 A 14,200
Q1 2e(3l24!) 4,000,000&*1CH 4,000
SIHEB2LF 219,192 241,192 A22,000
201 LEt2AY| 219,192 219,192 0
01 AFR22teltl 219,192 219,192 0
OQ &8sz 110,000, 000& 110,000
O3] S 20,000,000& 20,000
O23 AAX HIE 10,000, 000& 10,000
ONS EEH A MI& 10,000, 000& 10,000
O2s =222 M 4,000,000& 4,000
OAA2EISAIAE S StEMH| RS2
1,650,000& x 128 19,800
O%l3| EHO0IX SXIEZ%
866,000& 128 10,392
OAHEIQIGH HIZ 2,000,000& 2,000
093] ClEUIgEE ZEI= ME(14])
33,000,000& 33,000
o3 ANz 2H 2,000 2,000
405 XHAHSRISHI 2,000 2,000
02 SMFHI 2,000 2,000
OXz& EN722H| 2,000,000& 2,000
&IIXsS X 200 K& 51,000 0 51,000
= 5,000
Al 46,000
405 XhaHEISHI 51,000 0 51,000
= 5,000
Al 46,000
01 ML Z2EF SHI 51,000 0 51,000
OgRE 23X 2 51,000,000& 51,000
= 5,000
Al 46,000
SAHH| (SIS AFR D) 51,840 20,560 31,280




SN oI5| ARt
N HY2IIHI(2AZAIR L)
&l D12 ZHI(2AZIAIR D) (B9 &S)
SA - BB SRI(B) - MRAR - BAS Of v e HIDEY
J12ZHI(2AZIAIR D) 21,840 20,560 1,280
J123HI(2I2AFRDH) 21,840 20,560 1,280
201 LEH=2E | 13,000 13,000 0
01 AFR2t2lHl 13,000 13,000 0
FASSAIR22l] 13,000,000& 13,000
202 04l 3,800 2,600 1,200
01 SLHoAH 3,800 2,600 1,200
OJl=gR=+=80idl(15%) 3,800,000 3,800
203 FR=&H| 5,040 4,960 80
02 FRIHAHA =TI 1,440 1,360 80
O Itard =] 80,0002 18 1,440
M EASERFAH 3,600 3,600 0
ORAN2SELRFTHI(202!015H)
300,0008x 12 3,600
QIR 2HHI(2IAR L) 30,000 0 30,000
2 IAHI (2B AFR ) 30,000 0 30,000
303 Lat= 30,000 0 30,000
02 d1ta0is 30,000 0 30,000
Oodaoi= 30,000,000 30,000




